

# Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 2, 2025

	Contract ID Prime Contra	250221-D actor Don Schn	06 ieders Excavating Co	mpany, Inc	Pay Period S Pay Period E			025 Net Chai	Contract Am nge Order An Contract Am	nount	32,889.34 \$0.00 32,889.34	
Approval Date										By U	Iser	
September 2, 2025		Generated and Approved (and should be considered Draft) at the Project Office Level by										
September 2, 2025			Reviewed and App	roved (and	should be consi	idered Dra	aft) at the l	Resident Engi	neer Level by	beckc2		
September 4, 2025				Reviewed	and Approved	at the Cer	ntral Office	Controllers O	ffice Level by		ramses1	
Original Completion	on Date	Current C	ompletion Date	Actua	al Completion [	Date	%	of Current C	ontract Amo	nt Complete		
December 1, 20	025	Decen	nber 1, 2025						70.45%			
	Co	ontract Informa	tional Dates					Mile	stones			
Date Description	Original Co	mpletion Date	Current Completion	n Date		Date De	escription	Original	Current	Days	Diary	
Acceptance Date								Completion Date	Completion Date	Remaining on	Charge Days	
Awarded Date	March 5, 202	25	March 5, 2025							Milestone	,-	
Letting Date	February 21	, 2025	February 21, 2025			Mileston		October	October	39		
Notice to Proceed Date	April 7, 2025	5	April 7, 2025			A9538 A	1 Bridge	13, 2025	13, 2025			
Work Began Date	May 22, 202	5	May 22, 2025			Roadwa Items Co	y/Bridge					

Contract Total Pa	ay For Estimate No. 9				
		This Estimate	Previous	To Date	
250221-D06					
	Total Posted Items Pay	\$192,163.00	\$676,402.55	\$868,565.55	
	Gross Item Adjustments	\$31,165.00	(\$12,510.50)	\$18,654.50	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$663,892.05	\$887,220.05	
Contract Total Pa	ayable This Estimate:	\$223,328.00			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JCD0101	0390	7034221	SLAB ON CONCRETE NU-GIRDER	SQYD	\$718.000	253.500	\$182,013.00
	0420	7123610	SLAB DRAIN	EA	\$725.000	14	\$10,150.00
Project JCD0101	- Total						\$192,163.00

Overall - Total \$192,163.00

## Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

		nents This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JCD0101	0370	CLASS B CONCRETE (SUBSTRUCTURE)	Material			-54.20000	\$575.00	(\$31,165.00)
	0370	CLASS B CONCRETE (SUBSTRUCTURE)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user snells1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	54.20000	\$575.00	\$31,165.00
	0370	CLASS B CONCRETE (SUBSTRUCTURE)	MaterialCredit			54.20000	\$575.00	\$31,165.00
	0390	SLAB ON CONCRETE NU- GIRDER	Material			-321.10000	\$718.00	(\$230,549.80)
	0390	SLAB ON CONCRETE NU- GIRDER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user snells1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	321.10000	\$718.00	\$230,549.80
Total								\$31,165.00

Revision 9/2/2025 Page 1 of 8



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informa	ation					
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
JCD0101	FAS S403(55)	Bridge replacement	SOR 44	LACLEDE	over Bear Creek east of	Lebanon						
Totals b	y Job Ni	umbers										
JCD0101		d Item Pay Item Adjustme		Item Pay	This Estimate \$192,163.00 \$31,165.00 \$223,328.00	Previous \$676,402.55 (\$12,510.50) \$663,892.05	To Date \$868,565.55 \$18,654.50 \$887,220.05					
					\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					

Revision 5/29/2025 Page 2 of 8



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

## **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JCD0101, Item 7032003, Project Item Line Number 0370, Material Set 703200396, Material 0501CCBA - Concrete, Class B w/Air, Acceptance Action Generic 0501CCBA is insufficient.	Awaiting results of Contractors testing. snells1	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0101, Item 7034221, Project Item Line Number 0390, Material Set 703422196, Material 0501CCB2MDA - Concrete, Modified B-2 w/Air, Acceptance Action Generic 0501CCB2MDA is insufficient.	Concrete was placed this period and testing has not been completed as yet.  snells1	snells1	Overridden
Estimate Exception Type: Item Overrun: Contract 250221-D06, Contract Project JCD0101, Project Item Line Number 0320, Contract Line Item Number 0320, Item 2061000, Minor Item.	A Change Order is being drafted to resolve exception. snells1	snells1	Acknowledged

Revision 5/29/2025 Page 3 of 8



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

tract O	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repo generated date)
21-	JCD0101	0001	0010	1081000	SIGNET DBE REPORTING	1.00	0.00	1.00	LS	1.00	\$1,000.00	\$1,000
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.35	\$20,830.00	\$7,290
		0001	0030	2031000	CLASS A EXCAVATION	386.00	0.00	386.00	CUYD	0.00	\$8.00	\$0
		0001	0040	2036000	COMPACTING EMBANKMENT	196.00	0.00	196.00	CUYD	0.00	\$6.15	\$0
		0001	0050	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	6.00	0.00	6.00	100F	0.00	\$893.00	\$0
		0001	0060	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	1,546.00	0.00	1,546.00	SQYD	0.00	\$9.75	\$0
		0001	0070	4019905	MISC.OPTIONAL PAVEMENT	1,546.30	0.00	1,546.30	SQYD	0.00	\$76.00	\$0
		0001	0800	6113020	FURNISHING TYPE 2 ROCK BLANKET	821.00	0.00	821.00	CUYD	390.00	\$43.40	\$16,926
		0001	0090	6113040	PLACING TYPE 2 ROCK BLANKET	821.00	0.00	821.00	CUYD	390.00	\$21.90	\$8,54
		0001	0100	6161005	CONSTRUCTION SIGNS	426.00	0.00	426.00	SQFT	195.00	\$7.00	\$1,365
		0001	0110	6161008	ADVANCED WARNING RAIL SYSTEM	3.00	0.00	3.00	EA	3.00	\$54.00	\$162
		0001	0120	6161025	CHANNELIZER (TRIM-LINE)	40.00	0.00	40.00	EA	5.00	\$20.00	\$100
		0001	0130	6161030	TYPE 3 MOVEABLE BARRICADE	10.00	0.00	10.00	EA	6.00	\$125.00	\$750
		0001	0140	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	3.00	0.00	3.00	EA	3.00	\$2,400.00	\$7,200
		0001	0150	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.88	\$140,000.00	\$123,200
		0001	0160	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$600.00	\$(
		0001	0170	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,384.00	0.00	1,384.00	LF	0.00	\$0.63	\$
		0001	0180	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,384.00	0.00	1,384.00	LF	0.00	\$0.63	\$
		0001	0190	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	850.00	0.00	850.00	SQYD	405.00	\$5.05	\$2,04
		0001	0200	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.50	\$15,000.00	\$7,50
		0001	0210	8059901	MISC.SEED AND MULCH - COOL SEASON MIXTURES	1.00	0.00	1.00	LS	0.00	\$4,000.00	\$
		0001	0220	8061005	ROCK DITCH CHECK	165.00	0.00	165.00	LF	85.00	\$12.00	\$1,02
		0001	0230	8061006	ALTERNATE DITCH CHECK	150.00	0.00	150.00	LF	0.00	\$12.00	\$
		0001	0240	8061016	SEDIMENT REMOVAL	24.00	0.00	24.00	CUYD	0.00	\$20.00	\$
		0001	0250	8061019	SILT FENCE	1,308.00	0.00	1,308.00	LF	745.00	\$3.00	\$2,23
		0001	0260	8061050	TYPE C BERM	315.00	0.00	315.00	LF	258.00	\$25.00	\$6,45
		0010	0270	6061060	MGS GUARDRAIL	275.00	0.00	275.00	LF	0.00	\$30.00	\$
		0010	0280	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	0.00	\$4,200.00	\$
		0010	0290	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	0.00	\$3,800.00	\$
		0040	0300	9031280	2.5 IN. PSST POST - 12 GA.	32.00	0.00	32.00	LF	0.00	\$30.00	\$
		0040	0310	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	2.00	0.00	2.00	EA	0.00	\$200.00	\$
		0070	0320	2061000	CLASS 1 EXCAVATION	400.00	0.00	400.00	CUYD	423.00	\$36.00	\$15,22
		0070	0330	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$68,240.00	\$68,24
		0070	0340	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	116.00	0.00	116.00	SQYD	0.00	\$126.00	\$
		0070	0350	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	652.00	0.00	652.00	LF	524.00	\$158.50	\$83,05
		0070	0360	7027000	PILE POINT REINFORCEMENT	34.00	0.00	34.00	EA	34.00	\$120.00	\$4,08
		0070	0370	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	154.20	0.00	154.20	CUYD	154.20	\$575.00	\$88,66
		0070	0380	7034219A	TYPE D BARRIER	308.00	0.00	308.00	LF	0.00	\$133.00	\$
		0070	0390	7034221	SLAB ON CONCRETE NU-GIRDER	338.00	0.00	338.00	SQYD	321.10	\$718.00	\$230,54
		0070	0400	7056022	NU 43, PRESTRESSED CONCRETE NU-GIRDER	402.00	0.00	402.00	LF	402.00	\$425.00	\$170,85
		0070	0410	7061060	REINFORCING STEEL (BRIDGES)	7,540.00	0.00	7,540.00	LB	7,540.00	\$1.60	\$12,06
		0070	0420	7123610	SLAB DRAIN	16.00	0.00	16.00	EA	16.00	\$725.00	\$11,60
		0070	0430	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	0.00	\$2,000.00	\$
		0070	0440	7161000	PLAIN NEOPRENE BEARING PAD	8.00	0.00	8.00	EA	8.00	\$275.00	\$2,20
					late as of Report Generated Date	0.00	3.00	3.50	_, (	0.00	Ţ_, 0.00	\$872,31

Revision 5/29/2025 Page 4 of 8



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JCD0101

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0390	7034221	SLAB ON CONCRETE NU-GIRDER	8/16/25	8/20/25	1	50.70	SQYD	bridge deck slab	284+85		285+93		15% is being paid for the rebar being installed.
			8/21/25	8/28/25	1	84.50	SQYD	Bent 1 and 2 and overhang forms	284+85				25% Payment for deck forming.
			8/27/25	8/28/25	1	118.30	SQYD	Bridge Deck from STA 284+85 to STA 285+93	284+85	285+93			
0420	7123610	SLAB DRAIN	8/18/25	8/20/25	1	14.00	EA	All the slab drains were installed according to plan.					All the slab drains were installed according to plan.

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 5 of 8



# Line Item Adjustments by Estimate

Contract ID: 250221-D06

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks								
JCD0101	0250	SILT FENCE	Material		4	Jun 16, 2025	SYSTEM	(\$2,235.00)									
					4	Jun 16, 2025	SYSTEM	\$2,235.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user thompp1 overridding Payment Estimate Exception 1 on the current Payment Estimate.								
				- Total				\$0.00									
			Material - Total					\$0.00									
	0250 -	Total						\$0.00									
	0270	MGS GUARDRAIL	Construction Stockpile		4	Jun 16, 2025	SYSTEM	\$3,536.50	Payment Estimate Item Adjustment generated Stockpile Transaction								
			STMI	- Total				\$3,536.50									
			Construction S	tockpile STI	MI - Total			\$3,536.50									
	0270 -	Total						\$3,536.50									
	0280	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile STMI		4	Jun 16, 2025	SYSTEM	\$8,546.00	Payment Estimate Item Adjustment generated Stockpile Transaction								
		(1.120,110 001.12)	· · · · · ·	- Total				\$8,546.00									
			Construction S	tockpile STI	MI - Total			\$8,546.00									
	0280 -	Total						\$8,546.00									
	0290	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile STMI		4	Jun 16, 2025	SYSTEM	\$7,400.00	Payment Estimate Item Adjustment generated Stockpile Transaction								
		(MASH)	· · · · · ·	- Total				\$7,400.00									
			Construction S	tockpile STI	MI - Total			\$7,400.00									
	0290 -	Total						\$7,400.00									
	0320	CLASS 1 EXCAVATION	Overrun	Overrun	4	Jun 16, 2025	SYSTEM	(\$828.00)									
				Overrun - T	otal			(\$828.00)									
			Overrun - Tota					(\$828.00)									
	0320 -	Total						(\$828.00)									
	0370	CLASS B CONCRETE (SUBSTRUCTURE)	Material		6	Jul 16, 2025	SYSTEM	(\$14,375.00)									
													7	Aug 4, 2025	SYSTEM	(\$12,535.00)	
						9	Aug 18, 2025 Sep 2,	SYSTEM	(\$31,165.00)								
						2025	0.0.2	(\$0.1,100.00)									
					9	Sep 2, 2025	SYSTEM	\$31,165.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user snells1 overridding Payment Estimate Exception 1 on the current Payment Estimate.								
				- Total				(\$58,075.00)									
			Material - Total					(\$58,075.00)									
			MaterialCredit		7	Aug 4, 2025	SYSTEM	\$14,375.00									
					8	Aug 18, 2025	SYSTEM	\$12,535.00									
					9	Sep 2, 2025	SYSTEM	\$31,165.00									
				- Total				\$58,075.00									
			MaterialCredit	- Total				\$58,075.00									
	0370 -							\$0.00									
	0390	SLAB ON CONCRETE NU- GIRDER	Material		9	Sep 2, 2025	SYSTEM	(\$230,549.80)	This adjustment offerts the original avatem generated Material December								
					9	Sep 2, 2025	SYSTEM	\$230,549.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user snells1 overridding Payment Estimate Exception 2 on the current Payment Estimate.								
				- Total				\$0.00									
			Material - Total					\$0.00									
	0390 -	Total						\$0.00									
JCD0101 -	Total							\$18,654.50									

Line Item Adjustments by Estimate

Sep 5, 2025

Contract ID: 250221-D06

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
Overall -	Total							\$18,654.50	

# MoDOT

# Contract Adjustments for Contract - 250221-D06

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 8 of 8